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Cuadro 5 (continuación 6)/Table 5 (continued 6)
Chile: tablas abreviadas de mortalidada

 Chile: abridged life tables 
a

2010

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.008 0.008  100 000   833  99 241 0.991 b 7 565 396 75.7
1 4 0.000 0.002  99 167   153  396 293 0.999 c 7 466 155 75.3
5 5 0.000 0.001  99 015   108  494 802 0.999 7 069 862 71.4

10 5 0.000 0.001  98 906   147  494 163 0.998 6 575 059 66.5
15 5 0.001 0.003  98 759   309  493 022 0.996 6 080 896 61.6
20 5 0.001 0.005  98 450   503  490 993 0.994 5 587 874 56.8
25 5 0.001 0.006  97 947   614  488 201 0.993 5 096 881 52.0
30 5 0.001 0.007  97 333   690  484 942 0.992 4 608 680 47.3
35 5 0.002 0.009  96 643   836  481 128 0.990 4 123 738 42.7
40 5 0.002 0.012  95 808  1 136  476 199 0.985 3 642 611 38.0
45 5 0.004 0.018  94 672  1 665  469 198 0.978 3 166 412 33.4
50 5 0.005 0.027  93 007  2 518  458 742 0.965 2 697 213 29.0
55 5 0.009 0.042  90 490  3 820  442 897 0.946 2 238 471 24.7
60 5 0.014 0.066  86 669  5 707  419 080 0.917 1 795 574 20.7
65 5 0.021 0.102  80 962  8 267  384 145 0.872 1 376 494 17.0
70 5 0.034 0.156  72 696  11 371  335 050 0.808  992 349 13.7
75 5 0.053 0.235  61 325  14 414  270 588 0.718  657 299 10.7
80 5 0.083 0.343  46 911  16 095  194 317 0.602  386 711 8.2
85 5 0.128 0.480  30 816  14 804  117 070 0.466  192 394 6.2
90 5 0.195 0.636  16 012  10 182  54 604 0.325  75 324 4.7
95 5 0.290 0.784  5 830  4 572  17 720 0.145 d  20 720 3.6

100 ω 0.419 1.000  1 258  1 258  3 000  3 000 2.4
Mujeres/Females

0 1 0.007 0.007  100 000   690  99 375 0.993 b 8 100 841 81.0
1 4 0.000 0.002  99 310   151  396 884 0.999 c 8 001 466 80.6
5 5 0.000 0.001  99 159   107  495 529 0.999 7 604 582 76.7

10 5 0.000 0.001  99 052   99  495 015 0.999 7 109 053 71.8
15 5 0.000 0.001  98 953   122  494 463 0.999 6 614 039 66.8
20 5 0.000 0.002  98 832   156  493 769 0.998 6 119 575 61.9
25 5 0.000 0.002  98 676   194  492 893 0.998 5 625 806 57.0
30 5 0.001 0.003  98 481   278  491 713 0.996 5 132 913 52.1
35 5 0.001 0.004  98 204   421  489 966 0.995 4 641 201 47.3
40 5 0.001 0.007  97 783   657  487 272 0.991 4 151 234 42.5
45 5 0.002 0.011  97 126  1 031  483 053 0.986 3 663 962 37.7
50 5 0.003 0.017  96 095  1 619  476 428 0.978 3 180 910 33.1
55 5 0.005 0.027  94 476  2 530  466 056 0.965 2 704 482 28.6
60 5 0.009 0.042  91 946  3 905  449 969 0.946 2 238 426 24.3
65 5 0.014 0.067  88 041  5 903  425 448 0.915 1 788 457 20.3
70 5 0.022 0.105  82 138  8 637  389 099 0.868 1 363 008 16.6
75 5 0.035 0.163  73 501  11 947  337 639 0.799  973 910 13.3
80 5 0.056 0.246  61 554  15 163  269 864 0.704  636 270 10.3
85 5 0.088 0.362  46 391  16 773  190 024 0.582  366 406 7.9
90 5 0.138 0.507  29 618  15 027  110 522 0.442  176 382 6.0
95 5 0.207 0.659  14 591  9 619  48 905 0.257 d  65 860 4.5

100 ω 0.293 1.000  4 971  4 971  16 955  16 955 3.4

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


